
Lecture 13
The Lagrangian is ↳

Ess v
Fi= 122 ③d

COM ⑦
2(p , 0 ,4 , % , 8,4)= ((y + cost? +A/ +0Rsino) - Mglcost·& potentialK. E
Remarks :

(i) I does not depend on y

=0 ) = P
= 0

=>
Py = a is constant

But
Py
= a = Cli+ Pcos = constant

(ii) I does not depend on o

== )= = 0

=>

Pp
= b is constant

But Pp
= b = Agsino + cli + Pcost) cost = constant

(iii) 2 does not depend on t , so

=> +Opt YP-2 is conservedo

=> Al + OsinG) + 1c(y + cost + MglcosOEE is conserved

↳ an equation for 0 ; = ......

D

=> E= 1A(int) ++( + qcos)+ Mglcos
↳
2








